LAMBDP,
AF-25HB ALUMINUM FRAME SLIDING DOOR Installation Manual

Recessed Mount Roller Part No.AF-25HB-SET

Thank you for using our product. Before installation, please read this manual thoroughly to ensure correct installation.
Please keep this manual at hand for future reference.

ABOUT THE PRODUCT

@ This is a parts set for a heavy duty aluminum frame sliding door system for
residential & commercial use.

@ Recessed mounted roller allows a small gap between the track and the
door.

SPECIFICATIONS

Door height 3 1 Max.2200 mm
Door width 3 1 784- 900 mm
Glass thickness 5 mm or 6 mm
Max. Door weight 70 kg / door
Vertical adjustment 1 mm upward, 4 mm downward

3% 1 The door size can be expanded by using intermed supports. See page 3 for
the details.

FOR YOUR SAFETY AND CORRECT INSTALLATION

Meaning of symbols

Warning ® " 0 .
Caution Prohibited Required

-
A WARNING: If not followed, death or serious injury may result.

~\

0This product should be installed by a qualified person in accordance with this manual. If it is not installed correctly, the door
may fall and cause injury.

0 Provide a frame that can withstand the weight and impact of opening and closing the door. Be sure to use the specified
screws and tighten them securely. If the mounting strength is insufficient, the door may fall and cause injury.

® Do not use this product for any other purpose, or with doors that are outside the specifications of this manual.
\® Do not disassemble or modify any parts other than those described in this document.

-
A Caution: If not followed injury or damage may resulit.

0 Use tempered glass. Using shatter-proof film is recommended.

0Fo|low the specified dimensions, specifications, and alignment of the door and frame. Warping, tilting or twisting of the
frame or door may cause failure.

0 If cutting any parts, make sure to remove any burrs before installation. Also check the upper track for any left-over burrs or
scraps and remove these.

0This product is a part for architectural fittings. After installation, please check the function and safety of the final product.
Please inform the end user how to use the product safely.

0Make sure to check the screws for slack at regular intervals (one month from first usage, half a year, and then one time
L every year is recommended). )

SUGHATSUNE 1



COMPONENT PARTS

Parts (for 1 door)

(DHanging roller

Accessory: Spanner 22 mm

Hexagon socket screw key 3 mm

(@Stopper

2 pcs

Accessory: Hexagon socket screw key 3 mm

(®End cap

®Corner part 2 pcs

Accessory: Hexagon socket screw key 3 mm

®Guide roller .........

Accessory screw: Pan head
tapping screws 4.5 x 16

(®Screw set
+ Hexagon socket head cap screw M6 x 30 ++- 8 pcs
(for Frame(@(0)
+ Hexagon socket head cap screw M4 x 30 - 6 pcs
(for Intermediate supportd3)
+ Hexagon socket countersunk head screw
M4 x 25 e 8 pcs

(for Corner Part@)

Standard length parts

(@Standard track
2000 mm/3600 mm

«

(®Standard double track
2000 mm/3600 mm

(@Vertical frame
2500 mm/3000 mm

(9Horizontal frame
2000 mm

(DGasket

for 5 mm glass: 2500 mm
for 6 mm glass: 3000 mm

[

(2Edge cover
2500 mm/3000 mm

]

Optional parts

@3Intermediate support
2000 mm

(19Gasket for Intermediate support

for 5 mm glass: 2500 mm
for 6 mm glass: 3000 mm

(9Floor guide track
1220 mm, 1520 mm,1820 mm,
2440 mm,3000 mm,4000 mm
*No fixing hole is provided for the
guide tracks longer than or equal
to 3000 mm.

TOOLS REQUIRED FOR INSTALLATION

@ Screws to install the track@®Pan head tapping screws 5 x 40

®Screws to fix guide roller®

2

Pan head screws 4 x 20

as many as needed

SUGATSUNE

2 pcs (These screws are needed when Floor track () is used.)




INSTALLATION DRAWING (EXAMPLE)

M Specifications

% 1 Guide to required numbers of support

(Under 70 kg of door with 5 mm glass)

i Si fd .
Max.Door width | Max.Door height | Glass thickness Max.gog(r)g\salght (sma"':f&ano,?éow) Required supports
Without W1600xH2000 5
Intermedqigte 900 mm 2200 mm W1500xH2200
support
Wif:\) 5 mm or 6 mm 70 kg W1300xH2500 3
Intermediate 1500 mm 2500 mm W1200xH2700
support @3 W1100xH3000 4
/\ Caution
When door jumb is not provided apply
Two-way soft closer.
Opening width (RW) = Track length
40 40
5.5 Track hole pitch 240 7 4 8 gg T 4
| - 80 (2 —
‘ wo v |G 3 e
; oY O Wit ) i @ e
O i = — - — 1
@] @% B B W[ =
_ l})‘ T Itf‘)‘_
< N X
<] Ay
<40~ |~
27 d 0+ [~40~
0 L L
S %? =l A=~ i 0
I N~
I <
° rx z
g ’/@ o ,'j'? g n
< T = = ~t(5) =
g n ' Pz 2 DD ials
28 5
LN 0 =
™ Q g
Door width (TW) Q
@ B %ﬁr Y. L
Q o )
R N © — —rNLL J}»‘L _I'M‘L N Al ®
. i

Bl
=05

%2 Height adjustment range: —1 mm to +4 mm

SUGATSUNE

15



DIMENSIONS OF DOORS

(Round off the decimal point for the divided dimensions.)

M Drawing of installed door

H (Door height)—»\

S
RH (Inside height) —

4

TW (Door width

=

—

40 (Door thickness)

RW (Opening width) ———

(RW-4) + (number of overlaps x 25)
Number of doors
TH-104- (Number of Intermediate support x 11)

Door width TW =

Guide roller model : TH (Door height) = RH-49.5

Floor guide track model : TH (Door height) = RH-47.5 Glass height GH =
Number of glass panels

Glass width GW = TW-34

Example 1
Ex: 1 door on single track

Size of the door when Opening width 1800 mm and Opening height 2100 mm

Guide roller model Floor guide track model
TH =2100-49.5 TH =2100-475
=2050.5 =2052.5
=2050 mm =2052 mm

_ (1800-4) + (1x25) W= (1800-4) + (0x25)
2%3 23%3

=910.5 =898 mm

=910 mm

T™W

%3 Divided with two, since side wall is counted as a door.

Example 2
Ex: 3 doors on double track

Size of each door when Opening width 2500 mm and Opening height 2100 mm

Guide roller model

TH =2100-49.5
=2050.5
=2050 mm

(2500-4) + (2x25)
W= 3

—=848.666- -
=848 mm

Floor guide track model

TH =2100-47.5
=2052.5
=2052 mm

SUGATSUNE




|NSTALLAT|ON PROCEDURE In this manual, a single sliding door is used as an example.

[lCutting and Hole Drilling of Standard Length Parts
/\ Caution

OCut carefully so the cut edge is square to avoid bias and skewing.

0 Make sure to remove any burr. Also check the upper track for any left-over burr or scrap and remove these.

[1] Upper track@(®), Floor guide track (5 (option)

Length = RW (Opening width)

When the measure from the cut
end to the existing hole on the
track is 100 mm or more, drill
another mounting hole(¢5.5) at
40 mm from the cut end.

@®Rail @Floor guide track

(option)

Drilling 4.6

[2] Horizontal frame [4] Vertical frame(® - Step 1
LH = TW(Door width) - 50(Thickness of Vertical frame x 2) LV = TH (Door height) — 30
W,

YAY;

) Y
(OHorizontal frame
M6 threading Min. depth 20 mm LH @Vertical frame
2 holes at each end.

7

'\? ::z.
PR

[3] Intermediate support(d, when used
LH = TW(Door width) - 50(Thickness of Vertical frame x 2)

®Intermediate support
(option)
LH
M4 threading Min. depth 20 mm
1 hole at each end.

N4

M4 threading, Min.depth 20 mm
2 holes at each end.

SUGATSUNE



[5] Vertical frame(® - Step 2

Drill holes according to the quantity of Intermediate support.

Hole A only if there is no Intermediate support

Hole A + B2] for 1 Intermediate support 4
Hole A + B(1], B[3] for 2 Intermediate supports
Hole A + BT], B2], B3] for 3 Intermediate supports ——=—0¢10.5 hole =08 hole
Plmmma ]y, ol
| g | - | —
—==—06.2 hole 04.2 hole
Hole A Hole B
.

Hole B[1]

Hole B[2]
Hole B3]

TH: Door height
GH: Grass height

6 SUGHTSUNE



When using Floor guide track @
[6] Horizontal frame (0 (bottom) processing

M4 threading
4pcs per bottom Horizontal frame

;

[7] Fix the Guide roller ® to both ends of the Horizontal frame(0.

Cross recessed pan head
screw 4 x 20
(Not provided)

®Guide roller

SUGATSUNE



E Inserting Parts into Upper Track

[1] Slightly loosen the Fixing screws with the [2] Slightly loosen the hex bolt with the spanner
provided Hex key. provided.

Hex bolt

Provided spanner

(DRoller

Fixing screws

[3] Insert Roller () and Stopper @ in Track (D or ®).

When inserting, temporarily fix Stopper @ with Fixing screws so
as not to protrude from the track.

. @®Track
/\ Caution
Check with the direction when insert
the stoppers.
Fixing plate
(@Stopper
EE] Mounting of Upper Track@® and Guide roller ® or Floor guide track
@®Track i
Install the Guide roller with appropriate screws
for the mounting location on the Floor track
with prepared holes.
Recommended screw: Cross recessed pan
head tapping screw 5 x40
/\ Caution
oBe sure that the mounting surface for
the track is horizontal and flat.
®Guide roller
Accessory screw: Cross recessed
% pan head tapping screw 4.5 x 16

TW (Door width) - 12.5

Guide roller model

‘ Floor guide track model ‘

8 SUGHTSUNE



EI Assembling Door

A\ Caution

0 Coat the screws with adhesive for screws.
0 Be careful when installing glass to avoid injury.

[1] Assembly of Vertical frame(® and Horizontal frame @) (lower)

(®Hexagon socket countersunk
head screw M4 x 25

(9Horizontal frame (bottom)

(®Hexagon socket head
cap screw M6 x 30

(©Vertical frame /

[2] Insertion of glass - Step 1 ) Gasket

/(Horizontal length is same as TW (Door width) — 50)

Horizontal length : TW (Door width) — 34
Vertical length  : GH

GH

GW

)Gasket
(Vertical length is GH (Glass height))

[3] Assembly of Intermediate support(3, when used

(®Gasket
/ (Horizontal length is same as TW (Door width) — 50)
S

i \ ®Intermediate support
(®Hexagon socket head
cap screw M4 x 30

SUGHTSUNE 9



[4] Insertion of glass - Step 2, when Intermediate support is used

(9Gasket

(Vertical length is GH (Glass height))

Repeat steps 9-3 to 9-4 to assemble doors with more than 2 Intermediate supports.

[5] Assembly of Horizontal frame (0 (top)

(®Hexagon socket head
cap screw M6 x 30

()Gasket
/(Horizontal length is same as TW (Door width) — 50)

Cd

10 SUGHSUNE



[6] Assembly of Vertical frame®

@Corner part

(®Hexagon socket head
cap screw M6 x 30

()Gasket
(Vertical length is GH (Glass height))

l\
(®Hexagon socket countersunk
head screw M4 x 25

(®Hexagon socket head

[7] Assembly of Edge covers@®

Use synthetic rubber
adhesive in a few places
to prevent the Edge
cover (@ from shifting.

|

N

(@Edge cover
(Length is LV (Length of Vertical frame(®))

e N\
/\ Caution
Bend the Edge cover @ 0 Before attaching the Edge covers, make sure the frame is not
between your fingers and biased or skewed, and that all bolts are tight.
press it into the side of the Make sure the parts are firmly assembled and there is no
Vertical frame. warping or skewing.
& )

SUGATSUNE



5 Hanging the Door

knowledge and experience assist you.

/\ Caution
(Be sure to have someone withJ

Guide roller model

‘ Floor guide track model ‘ \

®Guide roller (®Guide roller

[1] Puta support below the door to be hanged. Tilt the door
as shown in the figure, and set the Guide roller ® to the
groove of the bottom horizontal frame (0.

Fixing bolt
[2] Insert the fixing plate of the Roller in the Horizontal frame
as shown in the figure below.

[3] Position the Roller at 80 mm from the cut end and fix it with
provided spanner.

A ) q
% \:/ Provided spanner

(DRoller

12 SUGHSUNE




EAdjustment of Door Height

[1] Remove the support under the door.

[2] Turn Vertical adjustment screw of Roller (D with provided spanner and adjust the gap between the door and
the floor to 10.5 mm (8.5 mm for Floor guide track model). The height adjustment range is -4 mm to +1 mm.

[3] Tighten the fixing screw of Roller (D) with provided hex key.

[4] Putthe End cap (3 on both ends of the door.

Vertical adjustment screw

®End cap

U257
Z: .?@9’
B
/
NS
. ~ 0
Fixing screw \/Q

Fixing Upper Stopper and Adjustment

[1] Fix the Stopper (@ with Fixing screws to the
position where the door touches the Vertical
frame. @sStopper

[2] Adjust the catching force by turning the
adjustment screw on stopper .
The catching force is set to maximum at the
factory.

Fixing screws

You may find the gasket coming off from the frame.
In such case, use a Spatel or something to push it in
and be careful not to scratch the glass.

SUGHTSUNE 13



| Final verification | Verify that all screws are securely tightened, and verify that all screws have been used.|

Periodical
Inspection

+ Clean the inside of the track.
- Check the upper and lower space of the door. If necessary, correct the space.

TROUBLESHOOTING

Trouble

Checkpoint

Solution

Abnormal noise during
operation

Check if door bottom contacts the floor or floor guide.

Verify that track fixing screws are not loosened. Then, Adjust the door height
according to the “INSTALLATION DRAWING” on page 3.

Check if door touches adjacent parts.

Adjust position of the floor guide.

Check track rollers for aluminum dust.

Remove the track and pull out the roller. Then, clean the roller.

Check for loose screws retaining the upper track.

Tighten the screw.

Heavy door operation

Check if door bottom contacts the floor or floor guide.

Verify that track fixing screws are not loosened. Then, Adjust the door height
such that the clearance between the door bottom and floor is 6 — 11 mm
between door bottom and floor.

Door does not move.

Check the track retaining screws for looseness.

Retighten screws to free the roller.

Door starts to move.

Check the upper track if it is set horizontally.

Using a level gauge, reset upper track horizontally.

SUGATSUNE KOGYO CO.,LTD

SUGATSUNE SHANGHAI Co., LTD SUGATSUNE AMERICA, INC

Tokyo, JAPA Shanghai, CHIN California, USA

Phone: +81 (0)3 3866 2260 E-mail:export@sugatsune.co.jp Phone: +86 21 3632 1858 E-mail:lamp@sugatsune.com.cn Phone: +1 310 329 6373 E-mail:sales@sugatsune.com
SUGATSUNE KOGYO (UK) LTD Guangzhou, CHINA Chicago, USA

Reading, UK Phone: +86 20 6639 3552  E-mail:lamp@sugatsune.com.cn Phone: +1 312 461 1081 E-mail:chicagoshowroom@sugatsune.com.

Phone: +44 118 9272 955  E-mail:sales@sugatsune.co.uk
SUGATSUNE EUROPE GmbH

Diisseldorf, GERM

Phone: +49 211 53812900 E-mail:sales@sugatsune.eu  Phone: +91 22 28314490/91 E-mail:sales@sugatsune.in

Mumbai, IND

SUGATSUNE KOGYO INDIA PRIVATE LIMITED SUGATSUNE CANADA, INC.

Phone: +1 514 312 5267 E-mail:support@sugatsune.ca

1ISO9001(Japan Offices and Sugatsune America) and 1ISO14001(Chiba Production division and Logistics center), certified. 2020.10 0786-4

14



